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(uestions
1. Find the ratio of:
(2] T5 to 50 paise (bl 15 kgto 210 g
(ch 9 mio 27 cm [d] 30 day= e 36 hours

2 Imn a computer lab, there are 3 computers for every & students. How many computers will be
needed for 24 students?

3. Population of Bajasthan = 570 lakhs and population of UP. = 1&&0 lakhs, Area of Rajasthan =3
lakh km? and area of LP. = 2 lakh km?.
(il How many people are there per km? in both states?
[ii} Which state i= less populated?

1.  To find ratios, both gquantities should be in same unit.
[a] T 5 to 50 paise
= 5 x 100 paisze to 50 paiss [+ =1 =100 paise]
== RO paise oo 50 paise
Thus, the ratio is = ﬂ = E =10:1
50 L

(bl 15 kgto 210 g
= 15x1000gto 210 g [ 1 kg= 1000 g]
== 150 g to 210 g
150Kk L]

Thus, the ratio is = =— =500: 7
il Kl
(ch Fmio 27 cm
= Dx 100 cm iz 2T cm [ = 1 am =100 cm)
== 90 cm oo 27 cm
Thus, the ratio is = L':Ili_n = # = 100 :3
[d]) 30 days oo 36 hours
= Z0x 24 hours o 36 hours [ = 1day =24 hours]
= T20 howurs to 36 howrs
T2 D
Thus, the ratin is= —=—=20:1
18 1 i v -
2. G students need = 3 compubers

-

1 student needs = ﬁ—‘ COMEpbers

24 students need = %:-:::I = 12 computers

Thus, 12 computers will be needed for 24 students.

Fogealatiom
Area
ET0 lakh=

3 lakhs per km?

In P = w = 330 peaple per km*
2 lakh per km
fii] Rajastham is less populated.

I (i) People present per km? =

In Rajasthan = = 190 people km?




